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MAT 099 @L ¥ Quiz 6

Sections 7.1, 7.7, 8.1 Spring, 2012 Name ‘EY
/z iw Do your own work.
\ 4?2 .
& 7‘@ 1. (5 pts) Simplify J=-16 = L m 2. (5 pts) Use a calculator to
\ , J ;M\ approximate /29 to three decimal
| d\\ i+ L places. —— D)
J .
5.%5%S
3. Simplify:

a (Sps) Viex' = \[‘—d b. (5pts) V16x° \gf
1%0

>
1"3, c. (5pts) /5420 d. (5pts) v-5v-20 . (5 pts) /S~ 20
.—\(?io =L\ L\(20 = L\s-20

Nz 225 =250 =*\50 =\Jo¢

-lo )\ 4o
4. Solve each equation by the square root property. For full credit, show the absolute
value steps. Leave final answers in simplified radical form.

/’%\:):1/ a. (Spts) x> -27=0 b. (5pts) (x - 7)° =45

\f/v; Y= 23 '3U§ Ix—+\ \FS»/

x\*@ \Bts G-t

c. (5pts) (x-7f =-
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Bonus (Next quiz material)
@ 6. Solve by completing the square: x> +18x — 2 = o/
X (%% = \%:*‘%t@
X exE G = 24 8 | * -
b, (’x vq) = 83
5! xeq = TNE3

12S o . . .
~—~% 7. Use the discriminant to determine the number and type of solutions of the quadratic

/b’l
equation. Then solve by any of the three methods. \ 6‘ 1) \‘F—
- |33% - by, Vil S
Q/E(Qb i. (4pts) x> +18x—-2=0 ii. (4pts) x? +2x+18— W
&% az\ b= 1% ¢=-2 a=1,b=2,=18
I/m@ bwhivae = XSS pHac= 240G ); 82
\‘“'\(6 = NEE =337 1 olzdiact nogall 2208
- = Q.ck?\me‘f /u‘sz A@C)"S -2 Y2 \p l(ﬂt(‘(\’;’)
S Xs ———— T —
e @ | ke
g —— x= — 1= 2 = @; g
iii. (4pts) x> -5x-6=0 iv. (4pts) 3x2 -5x+2=0 o
1;\/5:,5“; C=—( a= %’ b;——S’; =2
bYaa = (<P (\(-6) bz =(5) =% (3) )
=25 2 =yg =37 =25 - = :Fl::»«ﬂ
FactoRs. A RATIONAL Te1ces, \’—?:Lfm 2 A
_ A O - —
— =0 ‘ St
(x u\(xh\ = ﬂ 2=

3 11 - @ V. (4pts) 9x 30x +25=0 Y;: ‘ ( e
-2 -0 e

B\ *-30% +S .

naed <7
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